BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 17
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 20, 2025
UA ENGINEERING, INC.
C CORTEZ
NOVEMBER 20, 2025
0386-3117B (9.2)

BIDDER NAME	BASE BID
1) BEYER CONSTRUCTION, LLC	\$753,244.00
2) D&J CONSTRUCTION, INC	\$766,903.50
3) ALLGOOD CONSTRUCTION COMPANY, INC.	\$776,404.11
4) HCG	\$782,694.15
5) DACO PAVING, INC.	\$842,000.00
6) R CONSTRUCTION CIVIL, LLC	\$853,151.80
7) REXCON ENTERPRISES	\$1,099,385.25

55/65 CONTRACT DAYS

I, JACK SULLIVAN, P.E., hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 17
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 20, 2025
LIA ENGINEERING, INC.
C CORTEZ
NOVEMBER 20, 2025
0386-31178 (9.2)

		Г	1) BEYER CONS	STRUCTION, LLC	2) D&J CONSTRUCTION, INC		3) ALLGOOD CONSTRUCTION COMPANY, INC.		4) H	CG
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING AND APPURTENANCES ITEMS 1. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9360	\$49.75	\$465,660.00	\$49.50	\$463,320.00	\$47.44	\$444,038.40	\$46.80	\$438,048.00
<ol><li>6" LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE</li></ol>	SY	10596	\$2.20	\$23,311.20	\$3.50	\$37,086.00	\$3.00	\$31,788.00	\$4.50	\$47,682.00
3. 10% LIME BY WEIGHT, SOLB/SY FOR SUBGRADE, QUANTITY TO BE PAID ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE	TON	265	\$340.00	\$90,100.00	\$372.00	\$98,580.00	\$356.40	\$94,446.00	\$374.00	\$99,110.00
4. 6" REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLETE IN PLACE	LF	5568	\$4.55	\$25,334.40	\$3.75	\$20,880.00	\$3,42	\$19,042.56	\$4.00	\$22,272.00
<ol> <li>FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE</li> </ol>	EA	62	\$225.00	\$13,950.00	\$125.00	\$7,750.00	\$212.75	\$13,190.50	\$295.00	\$18,290.00
<ol><li>ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE ADA RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHEI APPURTENANCES, COMPLETE IN PLACE</li></ol>	EA R	12	\$1,280.00	\$15,360.00	\$1,200.00	\$14,400.00	\$747.50	\$8,970.00	\$1,740.00	\$20,880.00
<ol> <li>4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE</li> </ol>	EA	7	\$8.00	\$56.00	\$15.00	\$105.00	\$17.25	\$120.75	\$17.00	\$119.00
8. 24" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE	LF	5568	\$2.00	\$11,136.00	\$2.00	\$11,136.00	\$2.00	\$11,136.00	\$2.00	\$11,136.00
<ol><li>REMOVE AND DISPOSE OF TYPE III BARRICADE, ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE</li></ol>	EA	2	\$25.00	\$50.00	\$1.00	\$2.00	\$172.50	\$345.00	\$190.00	\$380.00
10. 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	129	\$44.00	\$5,676.00	\$35.00	\$4,515.00	\$26.45	\$3,412.05	\$36.20	\$4,669.80
SUBTOTAL PAVING AND APPURTENANCES ITEMS				\$650,633.60	-	\$657,774.00	-	\$626,489.26	_	\$662,586.80
MISCELLANEOUS PAVING AND APPURTENANCES ITEMS  1. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSES, STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLAGE	LS	1	\$4,850.00	\$4,850.00	\$7,500.00	\$7,500.00	\$2,875.00	\$2,875.00	\$11,440.00	\$11,440.00
<ol><li>MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE</li></ol>	LF	2000	\$3.00	\$6,000.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00
<ol> <li>OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>	CY	1000	\$2.00	\$2,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
<ol> <li>DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>	LF	2962	\$2.00	\$5,924.00	\$2.00	\$5,924.00	\$2.00	\$5,924.00	\$2.00	\$5,924.00
<ol> <li>COMMON ROADWAY EXCAVATION TO BE HAULED, STRIPPED, PLACED, AN COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR SITE AN ROADWAY FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>		7733	\$4.80	\$37,118.40	\$3.50	\$27,065.50	\$8.45	\$65,343.85	\$3.15	\$24,358.95
6. CITY OF LEAGUE CITY INSPECTION FEE, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	МО	3	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 17
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 20, 2025
LJA ENGINEERING, INC.
C CORTEZ
NOVEMBER 20, 2025
0386-31178 (9.2)

			1) BEYER CONS	TRUCTION, LLC	2) D&J CONSTRUCTION, INC		3) ALLGOOD CONSTRUCTION COMPANY, INC.		4) HC	G
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<ol> <li>CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE</li> </ol>	HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
8. AS-BUILT SURVEY OF FILL AREAS (CONTRACTOR'S SURVEYOR MUST PROVIDE CERTIFIED TOPOGRAPHIC SURVEY, INCLUDING ALL GRADE BREAKS, USING ON-GROUNDSHOTS AS A MEANS OF DATA COLLECTION, INCLUDES 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE	LS	1	\$4,450.00	\$4,450.00	\$5,000.00	\$5,000.00	\$9,775.00	\$9,775.00	\$5,700.00	\$5,700.00
<ol> <li>INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE</li> </ol>	EA	1	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
10. INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
11. EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$20.00	\$10,000.00
12. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE	LS	1	\$6,200.00	\$6,200.00	\$6,000.00	\$6,000.00	\$5,750.00	\$5,750.00	\$9,090.00	\$9,090.00
13. OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE	LF	168	\$18.00	\$3,024.00	\$20.00	\$3,360.00	\$11.50	\$1,932.00	\$4.35	\$730.80
<ol> <li>STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE</li> </ol>	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
15. 13' X 8' X 4" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$1,300.00	\$1,300.00	\$3,000.00	\$3,000.00	\$2,875.00	\$2,875.00	\$1,930.00	\$1,930.00
16. CLEARING AND GRUBBING OF LIGHTLY VEGETATED AREAS, INCLUDES ROOT RAKING AND BACK DRAGGING, TO BE CHIPPED AND HAULED OFFSITE, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	AC	17.44	\$100.00	\$1,744.00	\$750.00	\$13,080.00	\$1,000.00	\$17,440.00	\$1,315.00	\$22,933.60
SUBTOTAL MISCELLANEOUS PAVING AND APPURTENANCES ITEMS			_	\$102,610.40	_	\$109,129.50	_	\$149,914.85	_	\$120,107.35
BID SUMMARY										
PAVING AND APPURTENANCES ITEMS				\$650,633.60		\$657,774.00		\$626,489.26		\$662,586.80
MISCELLANEOUS PAVING AND APPURTENANCES ITEMS				\$102,610.40		\$109,129.50		\$149,914.85		\$120,107.35
TOTAL AMOUNT BASE BID				\$753,244.00		\$766,903.50		\$776,404.11		\$782,694.15

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 17
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 20, 2025
LIA ENGINEERING, INC.

NOVEMBER 20, 2025 0386-3117B (9.2)

C CORTEZ

			5) DACO PAVING, INC.		6) R CONSTRUC	CTION CIVIL, LLC	7) REXCON ENTERPRISES	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING AND APPURTENANCES ITEMS 1. 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	9360	\$49.75	\$465,660.00	\$48.00	\$449,280.00	\$57.00	\$533,520.00
2. 6" LIME STABILIZED SUBGRADE MANIPULATION, INCLUDES COMPACT TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	ION SY	10596	\$4.75	\$50,331.00	\$4.00	\$42,384.00	\$4.50	\$47,682.00
<ol> <li>10% LIME BY WEIGHT, 50LB/SY FOR SUBGRADE, QUANTITY TO BE PAIR ONLY FOR FIELD LAB RECOMMENDED QUANTITY, COMPLETE IN PLACE</li> </ol>		265	\$350.00	\$92,750.00	\$350.00	\$92,750.00	\$425.00	\$112,625.00
<ol> <li>6" REINFORCED CONCRETE CURB, AS INDICATED ON PLANS, COMPLET PLACE</li> </ol>	E IN LF	5568	\$4.50	\$25,056.00	\$4.00	\$22,272.00	\$4.00	\$22,272.00
<ol> <li>FINAL LOT GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE</li> </ol>	EA	62	\$290.00	\$17,980.00	\$190.00	\$11,780.00	\$800.00	\$49,600.00
<ol> <li>ADA RAMPS (TYPE 4), INCLUDING TRUNCATED DOME BRICKS TO BE AI RED, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL O' APPURTENANCES, COMPLETE IN PLACE</li> </ol>		12	\$1,500.00	\$18,000.00	\$1,850.00	\$22,200.00	\$2,150.00	\$25,800.00
<ol> <li>4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTONS FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE</li> </ol>	EA EA	7	\$20.00	\$140.00	\$15.00	\$105.00	\$16.00	\$112.00
8. 24" SOD STRIPING ALONG BACK OF CURB, COMPLETE IN PLACE	LF	5568	\$2.00	\$11,136.00	\$2.00	\$11,136.00	\$2.00	\$11,136.00
<ol> <li>REMOVE AND DISPOSE OF TYPE III BARRICADE, ONLY AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>	THE EA	2	\$1.00	\$2.00	\$1.00	\$2.00	\$300.00	\$600.00
10. 6" P.V.C. SCHEDULE 40 IRRIGATION SLEEVES, COMPLETE IN PLACE	LF	129	\$38.00	\$4,902.00	\$37.00	\$4,773.00	\$32.00	\$4,128.00
SUBTOTAL PAVING AND APPURTENANCES ITEMS				\$685,957.00	-	\$656,682.00	_	\$807,475.00
MISCELLANEOUS PAVING AND APPURTENANCES ITEMS  1. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTO PAVEMENT STRIPING, MARKERS, REFLECTIVE PAINT ON MEDIAN NOSE STOP SIGNS, STREET SIGNS, AND ALL OTHER TRAFFIC SIGNS SHOWN IN PLANS, ETC., COMPLETE IN PLACE	is,	1	\$13,000.00	\$13,000.00	\$10,100.00	\$10,100.00	\$15,600.00	\$15,600.00
<ol> <li>MISCELLANEOUS DRAINAGE SWALES, V-BOTTOM, GRADED TO DRAIN, INCLUDES HYDROMULCH SEEDING AND WATERING, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>		2000	\$3.00	\$6,000.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00
<ol> <li>OVER EXCAVATION OF UNSUITABLE MATERIAL FOR FILL PLACEMENT, DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>	AS CY	1000	\$2.00	\$2,000.00	\$2.00	\$2,000.00	\$2.00	\$2,000.00
4. DEMUCK, SCARIFY, AND FILL EXISTING DRAINAGE SWALES, AS NEEDED DIRECTED BY ENGINEER, COMPLETE IN PLACE	), AS LF	2962	\$2.00	\$5,924.00	\$2.00	\$5,924.00	\$2.00	\$5,924.00
<ol> <li>COMMON ROADWAY EXCAVATION TO BE HAULED, STRIPPED, PLACED COMPACTED TO 95% STANDARD PROCTOR DENSITY ON-SITE FOR SITE ROADWAY FILL, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE</li> </ol>		7733	\$7.35	\$56,837.55	\$4.00	\$30,932.00	\$9.25	\$71,530.25
CITY OF LEAGUE CITY INSPECTION FEE, AS DIRECTED BY THE ENGINEER COMPLETE IN PLACE	, мо	3	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SAMARA SECTION 17
GALVESTON COUNTY MUNICIPAL UTILITY DISTRICT NO. 73
CITY OF LEAGUE CITY, GALVESTON COUNTY, TEXAS
NOVEMBER 20, 2025
LIA ENGINEERING, INC.
C CORTEZ
NOVEMBER 20, 2025
0388-31.178 (9.2)

				5) DACO PA	VING, INC.	6) R CONSTRUCT	TON CIVIL, LLC	7) REXCON ENTERPRISES	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	CITY OF LEAGUE CITY INSPECTOR OVERTIME CHARGE, TO BE APPROVED BY THE ENGINEER, COMPLETE IN PLACE	HR	10	\$50.00	\$500.00	\$50.00	\$500.00	\$50.00	\$500.00
	AS-BUILT SURVEY OF FILL AREAS (CONTRACTOR'S SURVEYOR MUST PROVIDE CERTIFIED TOPOGRAPHIC SURVEY, INCLUDING ALL GRADE BREAKS, USING ON-GROUNDSHOTS AS A MEANS OF DATA COLLECTION, INCLUDES 3D CAD FORMAT BEFORE FINAL PAYMENT IS MADE), COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$7,800.00	\$7,800.00
	INSTALLATION AND REMOVAL UPON COMPLETION OF CONCRETE WASHOUT AREA, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
	INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, INCLUDES INSTALLATION AND REMOVAL (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
11.	EXTRA CEMENT STABILIZED SAND, TO BE USED ONLY AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	CY	500	\$20.00	\$10,000.00	\$20.00	\$10,000.00	\$35.00	\$17,500.00
	METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$5,200.00	\$5,200.00	\$7,000.00	\$7,000.00
	OVERFLOW SWALE, PER GRADING PLAN, 10' BOTTOM WIDTH, COMPLETE IN PLACE	LF	168	\$17.50	\$2,940.00	\$6.50	\$1,092.00	\$20.00	\$3,360.00
14.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDING CONTRACTOR BOOKLET, COMPLETE IN PLACE	LS	1	\$8,761.45	\$8,761.45	\$1,000.00	\$1,000.00	\$3,500.00	\$3,500.00
	13' X 8' X 4" MAILBOX PAD, IN ACCORDANCE WITH SIDEWALK DETAILS FOR ALL REBAR SIZES AND SPACINGS, AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$2,325.00	\$2,325.00	\$4,000.00	\$4,000.00
16.	CLEARING AND GRUBBING OF LIGHTLY VEGETATED AREAS, INCLUDES ROOT RAKING AND BACK DRAGGING, TO BE CHIPPED AND HAULED OFFSITE, AS NEEDED, AS DIRECTED BY ENGINEER, COMPLETE IN PLACE	AC	17.44	\$750.00	\$13,080.00	\$5,470.00	\$95,396.80	\$7,150.00	\$124,696.00
SUBTOT	AL MISCELLANEOUS PAVING AND APPURTENANCES ITEMS			_	\$156,043.00	_	\$196,469.80	_	\$291,910.25
BID SUM	IMARY								
PAVING	AND APPURTENANCES ITEMS				\$685,957.00		\$656,682.00		\$807,475.00
MISCELL	ANEOUS PAVING AND APPURTENANCES ITEMS				\$156,043.00		\$196,469.80		\$291,910.25
TOTAL A	MOUNT BASE BID				\$842,000.00		\$853,151.80		\$1,099,385.25